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All results for Erbium isotopes

Erbium 143 (Z=68, N=75) Erbium 144 (Z=68, N=76)
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Erbium 147 (Z=68, N=79) Erbium 148 (Z=68, N=80)
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All results for Erbium isotopes

Erbium 149 (Z=68, N=81) Erbium 150 (Z=68, N=82)
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Erbium 151 (Z=68, N=83) Erbium 152 (Z=68, N=84)
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All results for Erbium isotopes

Erbium 155 (Z=68, N=87) Erbium 156 (Z=68, N=88)
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Erbium 157 (Z=68, N=89)
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Erbium 158 (Z=68, N=90)
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Erbium 159 (Z=68, N=91)
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Erbium 160 (Z=68, N=92)
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All results for Erbium isotopes

Erbium 161 (Z=68, N=93) Erbium 162 (Z=68, N=94)
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All results for Erbium isotopes

Erbium 167 (Z=68, N=99) Erbium 168 (Z=68, N=100)
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Erbium 169 (Z=68, N=101) Erbium 170 (Z=68, N=102)
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Erbium 171 (Z=68, N=103) Erbium 172 (Z=68, N=104)
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All results for Erbium isotopes

Erbium 173 (Z=68, N=105) Erbium 174 (Z=68, N=106)
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Erbium 175 (Z=68, N=107) Erbium 176 (Z=68, N=108)
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Erbium 177 (Z=68, N=109) Erbium 178 (Z=68, N=110)
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All results for Erbium isotopes

Erbium 179 (Z=68, N=111) Erbium 180 (Z=68, N=112)
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Erbium 197 (Z=68, N=129) Erbium 198 (Z=68, N=130)
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All results for Erbium isotopes

Erbium 209 (Z=68, N=141)
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All results for Erbium isotopes

Erbium 215 (Z=68, N=147) Erbium 216 (Z=68, N=148)
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